
C+n- 2Q''.t 
t'[ttr1 t

.le * Jn - Jl62 can be simPlified as

(A) -t,ll
(B) -z.li

(c) -qJl

(D) -s..li

(B) r€)

flxl

c(r)

(D)
e(r)

{:-Jr- may be expressed as

^t 
x +,ty

.)

I

2.

3.

4.

(A)

(c)

(B)

(D)

x+y
x-y
x-y
x+y

x+ y -zJxy
x-y

x - y +2Jxy
x+y

-p^-q
-pv-q
-(pv-q)
-(pnq)

If g(x) is the inverse function offlx) then

the correct diagram is

(A) lb't g(x)
If a remainder of 7 is obtained rvhen
f -3x + & is divided by x - 3, then ,t equals

-lt
-l

I

ll

s. (-p)n(-q)=

(A)
(B)
(c)
(D)

(A)
(B)
(c)
(D)

(c)
6.flxl Given that x andy are negative integers,

and that x > y, which of the following is
true?

(A) t>)i
(B) x'<y
(c) x>f
(D) f <)P

7 The range of values of x that satisfr the
inequalitylx-bl<ais

(A) -a+b<x<a*b
(B) -a- b<x<a-b
(C) a- b<x<a*b
(D) a+ b<x<a-b

flx)

GO ON TO THE NEXT PAGE
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8.

I

(B)

(B)

(c)

(c)

(A)

3-

Which of the following mapping diagrams l0
does NOT represent a function'/

(A)

The value 6g logr. 36 is

Which ofthe following sets of ordered pairs

represent functions?

(A)

(B)
(c)
(D)

I

2
2
4
8x

x

I.
II.
III.
IV.

ll.

{(-1, l), (0,2), (1, 3), (4,6)}
{(-2, 4), (1, l), (1, 4), (2,4)\
{(-t, l), (0,0), (1, l), (-3,9)}
{(-2, 5), (-1, 5), (0, 5), (l, 5)}

(A) I and II only
(B) II and III only
(C) I, II and III only
(D) I, III and IV only

x

(D)

*

If log,4 + log,x - log"7 = 2, then the value
ofx is

l- 4logl5-log6 +-lo9*=12.

(A)

(B)

(c)

(D)

0

l. 36
-loq-2 "25
.25
loB 

+

13. Which of the following are factors of
4t + txs -?t- 6x - 4?

7

20

7,
-a-4

42
-a
7

I.
II.

II I.
N.

(A)
(B)
(c)
(D)

.x+ I
x-l
x+2
x-2

I and II only
II and III only
I and III only
I and IV only

', 
2'

4
(D)

CO ON TO THE NEXT PAGE



14.

4

The general cubic equation with roots ot, p and f may be written as

(A) ,i-(cr +F+y)ri-(aF +aT + Fy)x-d9f=0
(B) t'-(cl +B+flf +(crB +af + |Dx-sFT=O
(C) ri-(a + S+flf -(ctp +af+ 9f)x+ aFT=O

(D) ri-(o +g+nt'+(oP +af + |Dx+aFT=O

15. The tables below show the values for two
functions, f and g.

x 0 I 2 3 4 5

f(r) 7 5 3 2 -7 -5

The value of g -' [(3)] is

The line through the points P(k,2) and

0(6, 8) is parallel to the line with equation
3x+ y-21= 0. The value of & is

The expression sin 60 + slp 40 may be
expressed as

sin 100

-2cos20
2 sin 50 cos 0
2 cos 50 sin 0

A curve is defined by the parametric equa-
tionsx= 3 +2t and-y:2 + r. The Cartesian
equation of the curve is

(A) x+j/= I
(B) x * 4y:7
(C) x+2y: I

(D) x -2y: -1

What value of 0, 0 < 0 < r, satisfies the
equation 2 cos2 0 + 3 cos 0 -2 : 0?

(A)

(B)

(c)

18.

r9

20.

2t

(A)
(B)
(c)
(D)

(A)
(B)
(c)
(D)

(A)

(B)
(c)
(D)

I

4
E

24

I

2

2
5

7

16. A vector equation is given as

'(T).'(l) =(-i) rhe varues ors and

, are, respectively,

(A) -2 and -l(B) l and I
(C) 2 and I
(D) 2 and-l

17. The value ofcos
1t

2
(A)
(B)
(c)
(D)

cosP
sinp
-cosp
-sin p

p ts

T
6

tr
4

T
;J
7t

2

CO ON TO THE NEXT PAGE

x 0 I 2 3 4 5

g(x) 3
I

4

I

2 5
I
3 2

(D)



5

22. The expression cotx * tan x can be written 25.
as

Which of the following sketches BEST
represents the curve

(A)

(B)

(c)

2 cosec 2x

2 cotTs

sin r+cosy

),: cos |, ro = 
x s2n)2

(A)

sinxcosx

slnr-cosr
(D)

stnxcos.r

23. The minimum and maximum values of

I

2 - ai"6) 
are' rresPectively'

-3and-l
-2 and2
I andl
3

land3

With respect to an origin O, A has
coordinates (3, -Z). The position vector
of 3d is

(A) (3, -6)

(B) (9,--2)

(D)

,r

I

,t

I

ts 2n

1

lt 2n

I

.x

x

T

x

24.

(A)

(B)

(c)

(D)

t:)

tj)

(c)

(B)

(c)

(D)

GO ON TO THE NEXT PAGE



26

-6-

The variable point P(x,y) moves so that it is the same distance from the points (1,6) and
(3,2). The equation of the locus of P may be obtained from

v-6 _ v-Z
x-l x-3

x-l x-3
v-6 v-2

-l)2 +(y-6)2 = -3)z +(y-2)2

(D) (x- l) +0,- 6):(x- 3) + (y-2)

(A)

(B)

(c)

27. The general solution for sin 20 : sin 29 Thecosine ofthe angle between the vectors
-6jandi+jis

lf p:2i+ j andq:l,i+6j areperpendicular
vectors, then the value of l, is

7t.
-ls6

(A) o=.
znr+L

6

(2n +D 
*L

1tnt+-
t2
5rnn+-
t2

-l
Jz

I

Jz

-5
Jz
6

Jz

-3
-l

0
2

(A)

(B)

(c)

(D)

(A)
(B)
(c)
(D)

30.

(c)

(D)

(B)

(A)

(B)

(c)

(D)

,={

,={

,={

7Tnt+-
l2

(2nr) 5n

t2

Enfi+-
6

(n+DZ
6

28. A circle has centre (-1, -l ). The equation
of the tangent to the circle at the point
(0, -3) on the circle is

l^y=--x-J'2

l.v=-x-5'2

Y =-2x-3

| =2x-3

CO ON TO THE NEXT PACE
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From the diagram above, which of the
following statements are true?

34.

f'(t) < 0

f(l) > t
f 121: g

f'(2): k

(A) I and II only
(B) I and III only
(C) II and III only
(D) II and IV only

Item 32 refers to the following diagram. J5.

v f:*

x

36.

In the diagram above showing yF: x, y is
NOT defined for

x:0
x>0
x>0
x<0

For the function to be continuous at x:3,
the value ofp should be

A curve is given parametrically by the
equationsx:f -2t, y:F+2t- The

simplest expression n, ! is given by
cbe

,-l
t+l
r+l

(B) t-l

2t-l

(D)

2t+l

2t+l
2t-l

-7-

Item 31 refers to the following diagram. 33. The function g is defined as

v 3p+2,x<3
3*-1, x)3g(r) =

Which of the following real functions has a
point of discontinuity?

A(A) f(x):c+rr

.f (x)=?+T

-f(x):3-f

.f(x)=.ffi,

Y =f(x)

t;

(
4

I
2
6

(A)
(B)
(c)
(D)

(A)

I.

II.
III.
IV.

k

1234

3l

(c)

0

(B)

(c)

(D)

32

A rod is heated and its length at time
/ seconds is given by L = 5t2 + 169
centimetres. When t = 3, the rate of
increase ofZ, in cm s-r, is

(A)
(B)
(c)
(D)

(A)
(B)
(c)
(D)

l5
30
45
60

r\-f?r'l!nrlrADnlrlrZ-
GO ON TO THE NEXT PAGE
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9x' 7t

IJ

(A)

(B)

(c)

(D)

I

1
2

l
2

-l

0
6
@

1
4

3

4

2
4

27

4

(A)

37. rs

Item 38 refers to the following diagram
which shows the finite region R bounded
by the liney: x and the curvey: rf .

*
1

-1

38. The area of R is

39

(B)

(c)

(D)

[t +t1*'yar= P, the value of

f(x) r(x)

x-3

-@

ls
(A)
(B)
(c)
(D)

40

41. Given that

E

(B)

sec2 x dx:

3f(x)dr is?v

R

x

(c)

(D)

(A)

(B)

(c)

(D)

(A)

I

6

I
3

I

2

5

6

-Jt
2

-l
T
I

2

.6
2

Item 42 refers to the following diagram.

v

The gradient at x=I on the curve
y:sinxis 6 a x

42 Based on the diagram above, which of the
following statements is NOT correct?

(a) is undefined

lg r(rl =f@).

lim f(x) does not exisr.x-o

f(x) is discontinuous at g

(A)

(B)

(c)

(D)

GO ON TO THE NEXT PAGE
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Item 43 refers to the following diagram. 44. If.f '(.r) = 6x , then given that f ,(0) 
= 0 , and

c is a constant, f (x) :

y:x2
3rf +r+ c
:i+x+c
3r3+c
.t'+c

v,

3

(A)
(B)
(c)
(D)

0
45

*rOsin.r)may 
be expressed as

43 The finite region,R is enclosed by the curve
y : f,the y-axis and the liney : 3 as shown
in the diagram above. This region is rotated
completely about the y-axis to form a solid
of revolution. The volume of this solid is
given by

(A) rf (cos x + 3 sin x)
(B) .f (x cos x * 3 sin:r)
(C) f (3 cos r + sin x)
(D) rf (.r cos x + 3 sin x)

(A) o['*od,

(B) o['rod*

(c) o[.f ar

(D) ,!ir 4

END OF TEST

TFYOU T'INISII BE['ORE, TIME IS CALLED, CI{NCKYOUR WORK ON THIS TEST.




